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= 53,000
2 8,444,000
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= 33,234, 150
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= 16,195,000
CHSEX 10,515,000 10,320,000 195,000
307 Q20| 10,515,000 10,320,000 195,000
02 QIR A AR 10,515,000 10,320,000 195,000
OSHSs 2L X2 1,030,000
DS XS 3 A B X 9,335,000
O AAZZ DR A X 2 150,000
NNSEAILRLK 5,680,000 5,520,000 160,000
307 Q20| 2,060,000 1,900,000 160,000
02 QA AEE 2,060,000 1,900,000 160,000
Bl EX=EPIE VP 2,060,000
308 Xt I S0 & 3,620,000 3,620,000 0
01 IXISHHIZ A S X2 3,620,000 3,620,000 0
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| 89,545
307 Q20| 89,545 0 89,545
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OLSHsSEMNEESME 4,000
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308 AtXIEtH S 01 & 73,500 73,500 0
01 IXNHHBAEES 73,500 73,500 0
OIS 22 LU X2 (0]2) 73,500
S ZOH QI & X = CH M & OH & X & 142,000 130,000 12,000
Il 25,000
= 117,000
307 21zZtol ™ 142,000 130,000 12,000
Il 25,000
= 117,000
02 Sl2tF &8 = 142,000 130,000 12,000
CIMN42I = &0 QI M 2 X = CH A & JH = KT & 142,000
| 25,000
= 117,000
U HM=ZRFA 9,300 11,500 A2,200
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O M S8 RFE A 7,300
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= 8,444,000
| 3,900,000
& 9,181,300
METESANLXA 9,616,000 13,218,000 23,602,000
& 8,444,000
& 1,172,000
403 XX SHHIS =01 & 9,616,000 13,218,000 A 3,602,000
= 8,444,000
= 1,172,000
01 AXIEHA2E X 9,616,000 13,218,000 23,602,000
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